Chapter 8 Review Name:

All answers must be justified with work. No work, no credit!

1. The angle 140" is equivalent to radians. Write your answer in exact form.
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2. —0.75 rotations around the unit circle corresponds to radians.
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3. An ant starts at the point (—1,0) and walks 1.6 units around the unit circle in a clockwise

direction. Find the x and y coordinates (accurate to 2 decimal places) of the final local of the
ant.
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4. What is the amplitude, period, midline, horizontal shift, and phase shift of
y=8sin(2t—6)+47?
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5. State the midline and amplitude of the function y = %512_
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6. For the following function, identify the amplitude, period, horizontal shift, and vertical shift
and then graph it from - 3n <7 <m:
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8. Without a calculator, find the exact value of sec300” . Ifit is undefined, enter "undefined".
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9. Find the phase shift of the sinusoidal function:
v =4sin(71+3)
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10. The formula for the following trigonometric functionis f(1)= < sin(_ 2 at)+ /
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11. If y—1=S5sins, find an expression for cost in terms of y.
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12. Find a solution in the interval —g << g for tan® = —40. Round to 3 decimal places.
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13. Use a graph of y =sin/ to estimate the solution to the equation sin/=0.9 for n/2</<n
Round to 2 decimal places.
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How many solutions to cosx = 3 are there for 0 <x < 77?
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How many solutions to sinx = 3 are there for 0 <x < 7?
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How many solutions to sinx = = are there for 0 <x < 7?

Solve cscx =3 for 0<x <271
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The baseball field's usage (in people per week) is seasonal with the peak in mid-July and the
low in mid-January. The usage is 2500 in July and 500 in January. Find a trig function
s = f(r) representing the usage at time # months after mid-January.
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Find the solutions to 2cos/ =0.15 for 27 <t <—x. Give answers correct to 3 decimal
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